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QUESTION 1

A customer has six hosts available in a cluster. When running at full capacity, all virtual machines can be run on two
hosts.

How many hosts can the customer place into maintenance mode at the same time while still providing N+2 resiliency to
the cluster?

A. Two
B. Three
C. One
D. None

Correct Answer: B

QUESTION 2

An architect is designing a new vSphere cluster. The requirement is to provide a total of 96 CPU cores and
1.5 TB RAM across all hosts.

The following information has been provided:

Two different physical hardware profiles are available for the ESXi hosts in the cluster.

Profile 1: 16 CPU cores and 256 GB RAM

Profile 2: 32 CPU cores and 512 GB RAM

Profile 2 is twice as expensive to purchase as Profile 1.

Which two aspects should the architect consider when selecting the hardware profile? (Choose two.)
A. The manufacturer and model of the CPUs in the hosts

B. The amount of capacity available for failover of virtual machines within the cluster

C. The downtime allowed for virtual machines that will be running within the cluster

D. The cost to procure and maintain the hardware

E. The number of virtual machines that will be running within the cluster

Correct Answer: BE
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QUESTION 3

During a requirements gathering workshop, the customer provides the following requirement (REQ) and
constraints (CON):

REQO1: The customer is looking for a way to limit database virtual machine (VM) placement to save on
CPU licensing costs.

CONOL1: There is a single cluster with no budget to scale.

CONO2: All virtual machines must run on the consolidated cluster.

Which two design decisions should the architect make to meet the customer requirement? (Choose two.)
A. The solution must use VM-VM anti-affinity rules

B. The solution must use vSphere DRS in manual mode

C. The solution must use a vRealize Orchestrator workflow for VM placement

D. The solution must use VM-Host affinity rules

E. The solution must use vSphere VM and host DRS groups

Correct Answer: CE

QUESTION 4
An architect is designing a vSphere environment for a customer and learns that the customer has:

A single vSphere cluster Two storage arrays with different RAID capabilities

Which two design decisions should the architect make to maximize data availability and data performance for this

customer? (Choose two.)

A. Use Storage DRS.

B. Use VMDK anti-affinity rules.

C. Use multiple datastores for heartbeat.
D. Use a minimum of three storage arrays.
E. Use VM to host DRS rules.

Correct Answer: AC
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QUESTION 5

As part of a new hybrid cloud initiative for a large financial company, the customer technical team is presenting an
overview of the current state of the infrastructure and their vision for a new solution.

The project team captures notes during the presentation and adds them to the discovery documentation.
Which of the listed statements is a design constraint?

A. The applications are created in-house with in-guest recovery protection

B. The maximum tolerable data loss is 10 minutes

C. The two data center locations have a network latency of 8 ms round-trip time (RTT)

D. The existing storage is out of maintenance

Correct Answer: D
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